
 

 

Answer on Question #55871-Physics-Astronomy-Astrophysics 

A sphere of mass 40 kg is attracted by another sphere of mass 15 kg with a force of 1/10 mg wt. find the 

value of constant of gravity if centers of spheres are 20 cm apart 

Solution 

𝑚1 = 40 𝑘𝑔; 𝑚2 = 15 𝑘𝑔; 𝑟 = 0.2 𝑚. 

𝐹 =
1

10
𝑚𝑔 𝑤𝑡 =

1

10
∙ 10−3𝑔 𝑤𝑡 =

1

10
∙ 10−6𝑘𝑔 𝑤𝑡 = 10−7𝑘𝑔 𝑤𝑡 = 9.8 ∙ 10−7𝑁. 

As 

𝐹 = 𝐺
𝑚1𝑚2

𝑟2
 

𝐺 =
𝐹𝑟2

𝑚1𝑚2
=

9.8 ∙ 10−7(0.2)2

40 ∙ 15

𝑁𝑚2

𝑘𝑔2
= 6.533 ∙ 10−11

𝑁𝑚2

𝑘𝑔2
 

Answer: 𝟔. 𝟓𝟑𝟑 ∙ 𝟏𝟎−𝟏𝟏 𝑵𝒎𝟐

𝒌𝒈𝟐 . 
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